Using U, = a + (n — 1)d with Arithmetic Sequences

(a) (b) (c) (d)
Find a and d for the sequence Find a and d for the sequence | Giventhata = 8 and d = 0.3, Given that a = —2 and
20,27,34,41, ... 4,1,-2,-5, ... write down the first 5 terms of | d = 0.5, write down the first 5
the sequence terms of the sequence
a=20d=7 a=4d=-3
8,8.3,8.6,8.9,9.2 -2,—15,—-1,-0.5,0
(e) (f) (9) (h)
Given that the first term is 5 a=6d=-5 a=11,d =0.3 Given that the first term is 80
and the common difference is 3, | Find the value of the 17 term Find the value of ugg and the common difference is
find the 215t term —7, find u3s
—74 24.8
65 —158
(1) () (k) Q)]
The first term of an arithmetic In an arithmetic series u, = 9 The 2" term of an arithmetic In an arithmetic series Ug = -2

sequence is 4 and the 11" term

is —2. Find the common
difference.

d =-0.6

and U5 = 44. Find the first
term and common difference.

a=9d=25

sequence is —2.5 and the 9t
term is —13. Find uy

—29.5

and uzo = 118. Find u75

558

(m)

(n)

(o)

(p)

Given that u; + ug = 25 and
Uz + Uy = 43, find the values
of a and d.

a=5d=3

The first term of a sequence is
twice the common difference.

Given that the 21t term is 110,
find the value of a and d.

a=10,d =5

The first term of an arithmetic
sequence is three more than the
common difference. Given that

u14 == _25, find u50

—-97

Write an expression in terms of

a and d for the sum of the first
ten terms of an arithmetic
sequence.

10a + 45d




